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1. Overview
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3. Corrections to RLC test case 7.2.3.13
Change 1 – Correction to function ‘fl_EUTRA_7_2_3_13_TestBody’
	Function name
	fl_EUTRA_7_2_3_13_TestBody()

	Reason for change
	In case of CAT-M1 operation for downlink data the MPDCCH and PDSCH are not scheduled in the same time range as in case of legacy LTE operation. Therefore, the current timing for data scheduled at individual steps on subframes 4, 5, 6 resp. 7 can cause problems with CAT-M1 UEs.
The start criterion for timers in steps 2A, 7A, 13A and 18A does not consider the extra delay caused by modified timing.

	Summary of change
	Scheduled timing for data sent at steps indicated in the changes on subfame 4 of subsequent frames to allow CAT-M1 operation.

Start criteria for timers were updated and timers were adjusted in steps 2A, 7A, 13A, 18A. (Note: Prose CR required)



	TTCN module
	RLC_AM_Testcases.ttcn

	MCC160 Comment
	Accepted 
As prose CR R5-181364


Before  change
…
  function fl_EUTRA_7_2_3_13_TestBody(inout RLC_SS_State p_RLC_Rec)

    runs on EUTRA_PTC

  { // @sic R5-105016 sic@

    var RRC_TransactionIdentifier v_RRC_TI := tsc_RRC_TI_Def;

    var template (value) EUTRA_FDD_TDD_CellInfo_Type  v_EUTRA_FDD_TDD_Info;

    var integer i;

    var integer v_Duration;

    var template (value) PDCP_DataPdu_LongSN_Type v_PDCP_DataPDU;

    var template (value) RLC_Status_NACK_List_Type  v_NACK_List;

    var DRB_COMMON_IND v_ReceivedAsp;

    var SubFrameTiming_Type v_SubFrameTimingTa;

    var SubFrameTiming_Type v_SubFrameTimingTb;

    var SubFrameTiming_Type v_SubFrameTimingTc;

    var SubFrameTiming_Type v_SubFrameTimingTd;

    var SubFrameTiming_Type v_SubFrameTimingTe;

    var SubFrameTiming_Type v_SubFrameTimingTf;

    var SubFrameTiming_Type v_SubFrameTimingTg;

    var SubFrameTiming_Type v_SubFrameTimingTh;

    var SubFrameTiming_Type v_SubFrameTimingTi;

    var SubFrameTiming_Type v_SubFrameTimingTj;

    var template (present) RLC_Status_Padding_Type v_Padding_5bits_Any := '?????'B;

    var template (present) RLC_Status_Padding_Type v_Padding_1bit_Any := '?'B;

    var SubFrameTiming_Type v_Timing;

    var integer v_Subframe := 0;

    var EUTRA_FDD_TDD_Mode_Type  v_EUTRA_FDD_TDD_Mode;

    var template (value) PhysicalConfigDedicated_AntennaInfo_Type v_AntennaInfo;

    timer t_WatchDog := 5.0;

    // determine RAT to make the timing correct later on

    v_EUTRA_FDD_TDD_Mode := f_EUTRA_CellInfo_GetFDD_TDD (eutra_Cell1);

    // get FDD_TDD_Info

    v_EUTRA_FDD_TDD_Info := f_EUTRA_CellInfo_GetFDD_TDD_Info (eutra_Cell1);

    v_AntennaInfo := f_EUTRA_CellInfo_GetAntennaInfoDedicated (eutra_Cell1);

    //PDCP SDUs of this size will be built, appended to a PDCP header,

    //and then used as RLC SDUs

    p_RLC_Rec.TxDataSize := 98;

    // generate 22 RLC SDUs = PDCP PDUs for transmission

    for (i := 0; i < 22; i:= i + 1)

      {

        f_GetTxAM_PRBS (p_RLC_Rec);  // sets p_RLC_Rec.RLC_Data

        v_PDCP_DataPDU := cs_PDCP_DataPdu_LongSN(int2bit(i, tsc_PDCP_SN_Size_12 ), p_RLC_Rec.RLC_Data);

        p_RLC_Rec.RLC_DataList[i] := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(v_PDCP_DataPDU));

        p_RLC_Rec.Next_PDCP_TX_SN := (p_RLC_Rec.Next_PDCP_TX_SN + 1) mod (tsc_Maximum_PDCP_SN_12 + 1);

      }

    //@siclog "Step 1 void" siclog@

    //@siclog "Step 1A" siclog@

    // The SS stops the UL default grant transmission

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );

    //@siclog "Step 2" siclog@

    // The SS transmits 4 AMD PDUs with P=0 and SN=0, 1, 2 and 4.

    // The SS record time TA when AMD PDU 5 (with SN=4) is sent.

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU1);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU2);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU3);

    p_RLC_Rec.AM_VTS := 4;

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU5);

    v_SubFrameTimingTa := f_EUTRA_TimingInfoSubframeOffsetAdjust (v_Timing,

                                                                  v_Subframe); // @sic R5s110785 sic@

    //@siclog "Step 2A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 3 UL grants of size 840 bits (UL Grant Allocation type 2). (Note 2)

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60); // @sic R5s120345, R5-121869 sic@

    f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,

                                              cs_TimingInfo(v_Timing),

                                              15, 3, 10, 3 );  // Imcs = 15 -> Itbs = 14  @sic R5s110394, R5-156157 sic@

    //@siclog "Step 2B" siclog@

    // The UE transmits RLC SDU#1.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU1);

    //@siclog "Step 2C" siclog@

    // The UE transmits RLC SDU#2.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU2);

    //@siclog "Step 2D" siclog@

    // The UE transmits RLC SDU#3.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU3);

    //@siclog "Step 2E" siclog@

    // The SS transmits a STATUS PDU.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 2F" siclog@

    // The SS starts the UL default grant transmission

    f_EUTRA_StartDefULGrantTransmission(eutra_Cell1);

    //@siclog "Step 3" siclog@

    // Check1: Does the UE transmit a STATUS PDU with NACK_SN=3 and ACK_SN=5 ? Record time TB.

    // Check2: Is (TB - TA ) = t_Reordering ?

    p_RLC_Rec.AM_VTA := 5;

    v_NACK_List := cr_NACK_List(3, tsc_E2_NoSO_Follows, omit);

    t_WatchDog.start;

    alt // @sic R5-100050 sic@

      {

        [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                               cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,

                                                                   v_NACK_List,

                                                                   v_Padding_5bits_Any ))) -> value v_ReceivedAsp

          {

            v_SubFrameTimingTb := v_ReceivedAsp.Common.TimingInfo.SubFrame;

            v_Duration := f_EUTRA_NB_SubFrameTimingDuration( v_SubFrameTimingTa, v_SubFrameTimingTb);

            if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_Reordering * 1000.0) ) )

              {

              }

            else

              {

                f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 3");

              }

            t_WatchDog.stop;

          }

        [] t_WatchDog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 3");

          }

      } // alt

    //@siclog "Step 4" siclog@

    // 100 ms after the Status Report received at Step 3, the SS sends 4 AMD PDUs with P=0 and SN=5, 6, 8 and 9.

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_SubFrameTimingTb, 100);  // @sic R5s110019 sic@

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU6);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU7);

    p_RLC_Rec.AM_VTS := 8;

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU9);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU10);

    //@siclog "Step 4A" siclog@

    // Check1: Does the UE transmit a STATUS PDU with NACK_SN=3, NACK_SN=7 and ACK_SN=10 ? Record time TC.

    // Check2: Is (TC - TB ) = t_StatusProhibit ?

    p_RLC_Rec.AM_VTA := 7;

    v_NACK_List := cr_NACK_List ( 3,

                                  tsc_E2_NoSO_Follows,

                                  omit );

    t_WatchDog.start;

    alt // @sic R5-100050 sic@

      {

        [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                               cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,

                                                                   v_NACK_List,

                                                                   v_Padding_5bits_Any ))) -> value v_ReceivedAsp

          {

            v_SubFrameTimingTc := v_ReceivedAsp.Common.TimingInfo.SubFrame;

            v_Duration := f_EUTRA_NB_SubFrameTimingDuration( v_SubFrameTimingTb, v_SubFrameTimingTc );

            if( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_StatusProhibit * 1000.0) ) )

              {

              }

            else

              {

                f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 4B");

              }

            t_WatchDog.stop;

          }

        [] t_WatchDog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 4B");

          }

      } // alt

    //@siclog "Step 5" siclog@

    // The UE transmits a STATUS PDU with NACK_SN=3, NACK_SN=7 and ACK_SN=10.

    p_RLC_Rec.AM_VTA := 10;

    v_NACK_List := cr_NACK_List_2NACKs(3,

                                       tsc_E2_NoSO_Follows,

                                       omit,

                                       7,

                                       tsc_E2_NoSO_Follows,

                                       omit);

    DRB.receive (car_DRB1_RLCStatusInd(eutra_Cell1,

                                       cr_STATUS_PDU_Nack(p_RLC_Rec.AM_VTA,

                                                          v_NACK_List,

                                                          v_Padding_1bit_Any))) -> value v_ReceivedAsp;

    //@siclog "Step 6" siclog@

    // The SS stops the UL default grant transmission

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );

    //@siclog "Step 7" siclog@

    // After 300ms the SS transmits 3 AMD PDUs with SN=3, 7 and 9. The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=9.

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 300);  // @sic R5s110019, R5s110474 sic@

    p_RLC_Rec.AM_VTS := 3;

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);

    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_NoPoll,

                  tsc_RLC_SDU4 );

    p_RLC_Rec.AM_VTS := 7;

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);

    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_NoPoll,

                  tsc_RLC_SDU8 );

    p_RLC_Rec.AM_VTS := 9;

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);

    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_Poll,

                  tsc_RLC_SDU10 );

    //@siclog "Step 7A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant of size 40 bits (UL Grant Allocation type 3). (Note 2)

    // v_Timing.Subframe.Number of 4 is valid for UL grant transmission

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                   3, 1);

    //@siclog "Step 8A" siclog@

    // In the next valid subframe following the one scheduled in step 7A the SS assigns 7 UL grants of size 840 bits (UL Grant Allocation type 2). (Note 2)

    // v_Timing.Subframe.Number of 6 (FDD) resp. 9 (TDD) is valid for UL grant transmission

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);

    f_EUTRA_PeriodicCyclicULGrantTransmission( eutra_Cell1,

                                               cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                               15, 3, 10, 7);  // @sic R5s110394, R5-156157 sic@

    //@siclog "Step 8" siclog@

    // The UE transmits a Status Report with no NACK_SN and ACK_SN = 10.

    DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                        cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA ) ) );

    //@siclog "Step 8B" siclog@

    // The UE transmits RLC SDU#4.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU4);

    //@siclog "Step 8C" siclog@

    // The UE transmits RLC SDU#5.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU5);

    //@siclog "Step 8D" siclog@

    // The UE transmits RLC SDU#6.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU6);  // @sic R5s100189 sic@

    //@siclog "Step 8E" siclog@

    // The UE transmits RLC SDU#7.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU7);

    //@siclog "Step 8F" siclog@

    // The UE transmits RLC SDU#8.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU8);

    //@siclog "Step 8G" siclog@

    // The UE transmits RLC SDU#9.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU9);  // @sic R5s100189 sic@

    //@siclog "Step 8H" siclog@

    // The UE transmits RLC SDU#10.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU10);

    //@siclog "Step 8I" siclog@

    // The SS transmits a STATUS PDU.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 9" siclog@

    // The SS transmits an AMD PDU to the UE

    f_TxAMD_SDU(p_RLC_Rec, cs_TimingInfo_Now, tsc_P_NoPoll, tsc_RLC_SDU11);

    //@siclog "Step 9A" siclog@

    // The SS starts the UL default grant transmission

    f_EUTRA_StartDefULGrantTransmission(eutra_Cell1);

    //@siclog "Step 10" siclog@

    // The UE transmits an AMD PDU with the same data as received in the corresponding DL AMD PDU.

    // The UE sets the poll bit as both the transmission and retransmission buffers become empty. Record time TD.

    DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,

                                        cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR,

                                                         tsc_P_Poll,

                                                         {p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11]} ))) -> value v_ReceivedAsp;

    v_SubFrameTimingTd := v_ReceivedAsp.Common.TimingInfo.SubFrame;

    //@siclog "Step 11" siclog@

    // Check1: Does the UE set the poll bit as both the transmission and retransmission buffers become empty? Record time TE.

    // Check2: Is (TE - TD ) = T_poll_retransmit?

    DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,

                                        cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR,

                                                         tsc_P_Poll,

                                                         {p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11]} ))) -> value v_ReceivedAsp;

    v_SubFrameTimingTe := v_ReceivedAsp.Common.TimingInfo.SubFrame;

    v_Duration := f_EUTRA_NB_SubFrameTimingDuration( v_SubFrameTimingTd, v_SubFrameTimingTe);

    if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_PollRetransmit * 1000.0) ) )

      {

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 11");

      }

    //@siclog "Step 11A" siclog@

    // The SS transmits a STATUS PDU.

    p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 12" siclog@

    // The SS reconfigures RLC in the UE and sets.

    p_RLC_Rec.t_Reordering := 0.2;

    p_RLC_Rec.t_StatusProhibit := 0.4;

    p_RLC_Rec.t_PollRetransmit := 0.5;

    // Send RRC CONNECTION RECONFIGURATION to UE

    f_EUTRA_RRCConnectionReconfiguration_RadioResConfig(eutra_Cell1,

                                                        v_RRC_TI,

                                                        cs_SRB2_1AM_DRB_Reconfig_RLC(v_EUTRA_FDD_TDD_Info.cqi_ReportConfig,  // @sic R5-112605: name change sic@

                                                                                     v_EUTRA_FDD_TDD_Info.soundingRS_UL_Config,

                                                                                     v_AntennaInfo,

                                                                                     cds_TX_AM_RLC_no_mRT (ms500, pInfinity, kBinfinity),

                                                                                     cds_RX_AM_RLC_Common (ms200, ms400)));

    //@siclog "Step 11B" siclog@

    // The SS stops the UL default grant transmission

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );  // @sic R5s100189 sic@

    //@siclog "Step 13" siclog@

    // The SS transmits 4 AMD PDUs with P=0 and SN=11, 12, 13 and 15.

    // The SS records time TF when AMD PDU 16 (with SN=15) is sent.

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);

    v_Timing.Subframe.Number := v_Subframe;

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU12);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU13);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU14);

    p_RLC_Rec.AM_VTS := 15;

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU16);

    v_SubFrameTimingTf := f_EUTRA_TimingInfoSubframeOffsetAdjust (v_Timing,

                                                                  v_Subframe); // @sic R5s110785 sic@

    //@siclog "Step 13A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 3 UL grants of size 840 bits (UL Grant Allocation type 2). (Note 2)

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60); // @sic R5s120345, R5-121870 sic@

    f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,

                                              cs_TimingInfo(v_Timing),

                                              15, 3, 5, 3 );  // Imcs = 15 -> Itbs = 14  @sic R5s110394 sic@

    //@siclog "Step 13B" siclog@

    // The UE transmits RLC SDU#12.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU12);

    //@siclog "Step 13C" siclog@

    // The UE transmits RLC SDU#13.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU13);

    //@siclog "Step 13D" siclog@

    // The UE transmits RLC SDU#14.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU14);

    //@siclog "Step 13E" siclog@

    // The SS transmits a STATUS PDU.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 13F" siclog@

    // The SS starts the UL default grant transmission

    f_EUTRA_StartDefULGrantTransmission(eutra_Cell1);

    //@siclog "Step 14" siclog@

    // Check1: Does the UE transmit a STATUS PDU with NACK_SN=14 and ACK_SN=16 ? Record time TG.

    // Check2: Is (TG - TF ) = updated value of t_Reordering ?

    p_RLC_Rec.AM_VTA := 16;

    v_NACK_List := cr_NACK_List(14, tsc_E2_NoSO_Follows, omit);

    t_WatchDog.start;

    alt // @sic R5-100050 sic@

      {

        [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                               cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,

                                                                   v_NACK_List,

                                                                   v_Padding_5bits_Any ))) -> value v_ReceivedAsp

          {

            v_SubFrameTimingTg := v_ReceivedAsp.Common.TimingInfo.SubFrame;

            v_Duration := f_EUTRA_NB_SubFrameTimingDuration(v_SubFrameTimingTf, v_SubFrameTimingTg);

            if (f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_Reordering * 1000.0) ) )

              {

                f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 14");

              }

            t_WatchDog.stop;

          }

        [] t_WatchDog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 14");

          }

      } // alt

    //@siclog "Step 15" siclog@

    // 100 ms after the Status Report received at Step 14, the SS sends 4 AMD PDUs with P=0 and SN=16, 17, 19 and 20.

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_SubFrameTimingTg, 100);  // @sic R5s110019 sic@

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU17);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU18);

    p_RLC_Rec.AM_VTS := 19;

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU20);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU21);

    //@siclog "Step 15A" siclog@

    // Check1: Does the UE transmit a STATUS PDU with NACK_SN=14, NACK_SN=18 and ACK_SN=21 ? Record time TH.

    // Check2: Is (TH - TG ) = updated value of t_StatusProhibit ?

    p_RLC_Rec.AM_VTA := 18;

    v_NACK_List := cr_NACK_List ( 14,

                                  tsc_E2_NoSO_Follows,

                                  omit );

    t_WatchDog.start;

    alt // @sic R5-100050 sic@

      {

        [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                               cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,

                                                                   v_NACK_List,

                                                                   v_Padding_5bits_Any ))) -> value v_ReceivedAsp

          {

            v_SubFrameTimingTh := v_ReceivedAsp.Common.TimingInfo.SubFrame;

            v_Duration := f_EUTRA_NB_SubFrameTimingDuration( v_SubFrameTimingTg, v_SubFrameTimingTh );

            if( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_StatusProhibit * 1000.0) ) )

              {

                f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 15B");

              }

            else

              {

                f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 15B");

              }

            t_WatchDog.stop;

          }

        [] t_WatchDog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 15B");

          }

      } // alt

    //@siclog "Step 16" siclog@

    // The UE transmits a STATUS PDU with NACK_SN=14, NACK_SN=18 and ACK_SN=21.

    p_RLC_Rec.AM_VTA := 21;

    v_NACK_List := cr_NACK_List_2NACKs(14,

                                       tsc_E2_NoSO_Follows,

                                       omit,

                                       18,

                                       tsc_E2_NoSO_Follows,

                                       omit);

    DRB.receive (car_DRB1_RLCStatusInd(eutra_Cell1,

                                       cr_STATUS_PDU_Nack(p_RLC_Rec.AM_VTA,

                                                          v_NACK_List,

                                                          v_Padding_1bit_Any))) -> value v_ReceivedAsp;

    //@siclog "Step 17" siclog@

    // The SS stops the UL default grant transmission

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );

    //@siclog "Step 18" siclog@

    // After 450ms the SS transmits 3 AMD PDUs with SN=14, 18, 20.

    // The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=20.

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 450);  // @sic R5s110019, R5s110474 sic@

    p_RLC_Rec.AM_VTS := 14;

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);

    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_NoPoll,

                  tsc_RLC_SDU15 );

    p_RLC_Rec.AM_VTS := 18;

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);

    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_NoPoll,

                  tsc_RLC_SDU19 );

    p_RLC_Rec.AM_VTS := 20;

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);

    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_Poll,

                  tsc_RLC_SDU21 );

    //@siclog "Step 18A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant of size 40 bits (UL Grant Allocation type 3). (Note 3)

    // v_Timing.Subframe.Number of 4 is valid for UL grant transmission

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                   3, 1);

    //@siclog "Step 19A" siclog@

    // In the next valid subframe following the one scheduled in step 7A the SS assigns 7 UL grants of size 840 bits (UL Grant Allocation type 2). (Note 3)

    // v_Timing.Subframe.Number of 6 (FDD) resp. 9 (TDD) is valid for UL grant transmission

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);

    f_EUTRA_PeriodicCyclicULGrantTransmission( eutra_Cell1,

                                               cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                               15, 3, 5, 7);  // @sic R5s110394 sic@

    //@siclog "Step 19" siclog@

    // The UE transmits a Status Report with no NACK_SN and ACK_SN = 21.

    DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                        cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA )));

    //@siclog "Step 19B" siclog@

    // The UE transmits RLC SDU#15.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU15);

    //@siclog "Step 19C" siclog@

    // The UE transmits RLC SDU#16.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU16);

    //@siclog "Step 19D" siclog@

    // The UE transmits RLC SDU#17.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU17);  // @sic R5s100189 sic@

    //@siclog "Step 19E" siclog@

    // The UE transmits RLC SDU#18.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU18);

    //@siclog "Step 19F" siclog@

    // The UE transmits RLC SDU#19.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU19);

    //@siclog "Step 19G" siclog@

    // The UE transmits RLC SDU#20.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU20);  // @sic R5s100189 sic@

    //@siclog "Step 19H" siclog@

    // The UE transmits RLC SDU#21.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU21);

    //@siclog "Step 19I" siclog@

    // The SS transmits a STATUS PDU.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 20" siclog@

    // The SS transmits an AMD PDU to the UE

    f_TxAMD_SDU(p_RLC_Rec, cs_TimingInfo_Now, tsc_P_NoPoll, tsc_RLC_SDU22);

    //@siclog "Step 20A" siclog@

    // The SS starts the UL default grant transmission

    f_EUTRA_StartDefULGrantTransmission(eutra_Cell1);

    //@siclog "Step 21" siclog@

    // The UE transmits an AMD PDU with the same data as received in the corresponding DL AMD PDU.

    // The UE sets the poll bit as both the transmission and retransmission buffers become empty. Record time TI.

    DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,

                                        cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR,

                                                         tsc_P_Poll,

                                                         {p_RLC_Rec.RLC_DataList[tsc_RLC_SDU22]} ))) -> value v_ReceivedAsp;

    v_SubFrameTimingTi := v_ReceivedAsp.Common.TimingInfo.SubFrame;

    //@siclog "Step 22" siclog@

    // Does the UE set the poll bit as both the transmission and retransmission buffers become empty? Record time TJ.

    // Check2: Is (TJ - TI ) = updated value of t-PollRetransmit?

    DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,

                                        cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR,

                                                         tsc_P_Poll,

                                                         {p_RLC_Rec.RLC_DataList[tsc_RLC_SDU22]} ))) -> value v_ReceivedAsp;

    v_SubFrameTimingTj := v_ReceivedAsp.Common.TimingInfo.SubFrame;

    v_Duration := f_EUTRA_NB_SubFrameTimingDuration( v_SubFrameTimingTi, v_SubFrameTimingTj);

    if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_PollRetransmit * 1000.0) ) )

      {

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 22");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 22");

      }

    //@siclog "Step 23" siclog@

    // The SS transmits a STATUS PDU.

    p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;

    f_TxSTATUS_PDU(p_RLC_Rec);

  } // fl_EUTRA_7_2_3_13_TestBody
…
After change
…
  function fl_EUTRA_7_2_3_13_TestBody(inout RLC_SS_State p_RLC_Rec)

    runs on EUTRA_PTC

  { // @sic R5-105016 sic@

    var RRC_TransactionIdentifier v_RRC_TI := tsc_RRC_TI_Def;

    var template (value) EUTRA_FDD_TDD_CellInfo_Type  v_EUTRA_FDD_TDD_Info;

    var integer i;

    var integer v_Duration;

    var template (value) PDCP_DataPdu_LongSN_Type v_PDCP_DataPDU;

    var template (value) RLC_Status_NACK_List_Type  v_NACK_List;

    var DRB_COMMON_IND v_ReceivedAsp;

    var SubFrameTiming_Type v_SubFrameTimingTa;

    var SubFrameTiming_Type v_SubFrameTimingTb;

    var SubFrameTiming_Type v_SubFrameTimingTc;

    var SubFrameTiming_Type v_SubFrameTimingTd;

    var SubFrameTiming_Type v_SubFrameTimingTe;

    var SubFrameTiming_Type v_SubFrameTimingTf;

    var SubFrameTiming_Type v_SubFrameTimingTg;

    var SubFrameTiming_Type v_SubFrameTimingTh;

    var SubFrameTiming_Type v_SubFrameTimingTi;

    var SubFrameTiming_Type v_SubFrameTimingTj;

    var template (present) RLC_Status_Padding_Type v_Padding_5bits_Any := '?????'B;

    var template (present) RLC_Status_Padding_Type v_Padding_1bit_Any := '?'B;

    var SubFrameTiming_Type v_Timing;

    var integer v_Subframe := 4; // @sic R5s18xxxx Cat M1 timing sic@
    var EUTRA_FDD_TDD_Mode_Type  v_EUTRA_FDD_TDD_Mode;

    var template (value) PhysicalConfigDedicated_AntennaInfo_Type v_AntennaInfo;

    timer t_WatchDog := 5.0;

    // determine RAT to make the timing correct later on

    v_EUTRA_FDD_TDD_Mode := f_EUTRA_CellInfo_GetFDD_TDD (eutra_Cell1);

    // get FDD_TDD_Info

    v_EUTRA_FDD_TDD_Info := f_EUTRA_CellInfo_GetFDD_TDD_Info (eutra_Cell1);

    v_AntennaInfo := f_EUTRA_CellInfo_GetAntennaInfoDedicated (eutra_Cell1);

    //PDCP SDUs of this size will be built, appended to a PDCP header,

    //and then used as RLC SDUs

    p_RLC_Rec.TxDataSize := 98;

    // generate 22 RLC SDUs = PDCP PDUs for transmission

    for (i := 0; i < 22; i:= i + 1)

      {

        f_GetTxAM_PRBS (p_RLC_Rec);  // sets p_RLC_Rec.RLC_Data

        v_PDCP_DataPDU := cs_PDCP_DataPdu_LongSN(int2bit(i, tsc_PDCP_SN_Size_12 ), p_RLC_Rec.RLC_Data);

        p_RLC_Rec.RLC_DataList[i] := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(v_PDCP_DataPDU));

        p_RLC_Rec.Next_PDCP_TX_SN := (p_RLC_Rec.Next_PDCP_TX_SN + 1) mod (tsc_Maximum_PDCP_SN_12 + 1);

      }

    //@siclog "Step 1 void" siclog@

    //@siclog "Step 1A" siclog@

    // The SS stops the UL default grant transmission

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );

    //@siclog "Step 2" siclog@

    // The SS transmits 4 AMD PDUs with P=0 and SN=0, 1, 2 and 4.

    // The SS record time TA when AMD PDU 5 (with SN=4) is sent.

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU1);

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s18xxxx Cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU2);

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s18xxxx Cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU3);

    p_RLC_Rec.AM_VTS := 4;

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s18xxxx Cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU5);

    v_SubFrameTimingTa := f_EUTRA_TimingInfoSubframeOffsetAdjust (v_Timing,

                                                                  v_Subframe); // @sic R5s110785 sic@

    //@siclog "Step 2A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 3 UL grants of size 840 bits (UL Grant Allocation type 2). (Note 2)

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 30); // @sic R5s120345, R5-121869 sic@ @sic R5s18xxxx Cat M1 timing 60->30 sic@
    f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,

                                              cs_TimingInfo(v_Timing),

                                              15, 3, 10, 3 );  // Imcs = 15 -> Itbs = 14  @sic R5s110394, R5-156157 sic@

    //@siclog "Step 2B" siclog@

    // The UE transmits RLC SDU#1.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU1);

    //@siclog "Step 2C" siclog@

    // The UE transmits RLC SDU#2.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU2);

    //@siclog "Step 2D" siclog@

    // The UE transmits RLC SDU#3.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU3);

    //@siclog "Step 2E" siclog@

    // The SS transmits a STATUS PDU.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 2F" siclog@

    // The SS starts the UL default grant transmission

    f_EUTRA_StartDefULGrantTransmission(eutra_Cell1);

    //@siclog "Step 3" siclog@

    // Check1: Does the UE transmit a STATUS PDU with NACK_SN=3 and ACK_SN=5 ? Record time TB.

    // Check2: Is (TB - TA ) = t_Reordering ?

    p_RLC_Rec.AM_VTA := 5;

    v_NACK_List := cr_NACK_List(3, tsc_E2_NoSO_Follows, omit);

    t_WatchDog.start;

    alt // @sic R5-100050 sic@

      {

        [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                               cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,

                                                                   v_NACK_List,

                                                                   v_Padding_5bits_Any ))) -> value v_ReceivedAsp

          {

            v_SubFrameTimingTb := v_ReceivedAsp.Common.TimingInfo.SubFrame;

            v_Duration := f_EUTRA_NB_SubFrameTimingDuration( v_SubFrameTimingTa, v_SubFrameTimingTb);

            if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_Reordering * 1000.0) ) )

              {

              }

            else

              {

                f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 3");

              }

            t_WatchDog.stop;

          }

        [] t_WatchDog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 3");

          }

      } // alt

    //@siclog "Step 4" siclog@

    // 100 ms after the Status Report received at Step 3, the SS sends 4 AMD PDUs with P=0 and SN=5, 6, 8 and 9.

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_SubFrameTimingTb, 100);  // @sic R5s110019 sic@

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU6);

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s18xxxx Cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU7);

    p_RLC_Rec.AM_VTS := 8;

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s18xxxx Cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU9);

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);
    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s18xxxx Cat M1 timing sic@
   f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU10);

    //@siclog "Step 4A" siclog@

    // Check1: Does the UE transmit a STATUS PDU with NACK_SN=3, NACK_SN=7 and ACK_SN=10 ? Record time TC.

    // Check2: Is (TC - TB ) = t_StatusProhibit ?

    p_RLC_Rec.AM_VTA := 7;

    v_NACK_List := cr_NACK_List ( 3,

                                  tsc_E2_NoSO_Follows,

                                  omit );

    t_WatchDog.start;

    alt // @sic R5-100050 sic@

      {

        [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                               cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,

                                                                   v_NACK_List,

                                                                   v_Padding_5bits_Any ))) -> value v_ReceivedAsp

          {

            v_SubFrameTimingTc := v_ReceivedAsp.Common.TimingInfo.SubFrame;

            v_Duration := f_EUTRA_NB_SubFrameTimingDuration( v_SubFrameTimingTb, v_SubFrameTimingTc );

            if( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_StatusProhibit * 1000.0) ) )

              {

              }

            else

              {

                f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 4B");

              }

            t_WatchDog.stop;

          }

        [] t_WatchDog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 4B");

          }

      } // alt

    //@siclog "Step 5" siclog@

    // The UE transmits a STATUS PDU with NACK_SN=3, NACK_SN=7 and ACK_SN=10.

    p_RLC_Rec.AM_VTA := 10;

    v_NACK_List := cr_NACK_List_2NACKs(3,

                                       tsc_E2_NoSO_Follows,

                                       omit,

                                       7,

                                       tsc_E2_NoSO_Follows,

                                       omit);

    DRB.receive (car_DRB1_RLCStatusInd(eutra_Cell1,

                                       cr_STATUS_PDU_Nack(p_RLC_Rec.AM_VTA,

                                                          v_NACK_List,

                                                          v_Padding_1bit_Any))) -> value v_ReceivedAsp;

    //@siclog "Step 6" siclog@

    // The SS stops the UL default grant transmission

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );

    //@siclog "Step 7" siclog@

    // After 300ms the SS transmits 3 AMD PDUs with SN=3, 7 and 9. The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=9.

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 300);  // @sic R5s110019, R5s110474 sic@

    p_RLC_Rec.AM_VTS := 3;

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_NoPoll,

                  tsc_RLC_SDU4 );

    p_RLC_Rec.AM_VTS := 7;

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s18xxxx Cat M1 timing sic@
    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_NoPoll,

                  tsc_RLC_SDU8 );

    p_RLC_Rec.AM_VTS := 9;

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s18xxxx Cat M1 timing sic@
    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_Poll,

                  tsc_RLC_SDU10 );

    //@siclog "Step 7A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant of size 40 bits (UL Grant Allocation type 3). (Note 2)

    // v_Timing.Subframe.Number of 4 is valid for UL grant transmission

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 40); // @sic R5s18xxxx Cat M1 timing 60->40 sic@
//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                   3, 1);

    //@siclog "Step 8A" siclog@

    // In the next valid subframe following the one scheduled in step 7A the SS assigns 7 UL grants of size 840 bits (UL Grant Allocation type 2). (Note 2)

//    // v_Timing.Subframe.Number of 6 (FDD) resp. 9 (TDD) is valid for UL grant transmission

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s18xxxx Cat M1 timing sic@
    f_EUTRA_PeriodicCyclicULGrantTransmission( eutra_Cell1,

                                               cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                               15, 3, 10, 7);  // @sic R5s110394, R5-156157 sic@

    //@siclog "Step 8" siclog@

    // The UE transmits a Status Report with no NACK_SN and ACK_SN = 10.

    DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                        cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA ) ) );

    //@siclog "Step 8B" siclog@

    // The UE transmits RLC SDU#4.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU4);

    //@siclog "Step 8C" siclog@

    // The UE transmits RLC SDU#5.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU5);

    //@siclog "Step 8D" siclog@

    // The UE transmits RLC SDU#6.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU6);  // @sic R5s100189 sic@

    //@siclog "Step 8E" siclog@

    // The UE transmits RLC SDU#7.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU7);

    //@siclog "Step 8F" siclog@

    // The UE transmits RLC SDU#8.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU8);

    //@siclog "Step 8G" siclog@

    // The UE transmits RLC SDU#9.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU9);  // @sic R5s100189 sic@

    //@siclog "Step 8H" siclog@

    // The UE transmits RLC SDU#10.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU10);

    //@siclog "Step 8I" siclog@

    // The SS transmits a STATUS PDU.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 9" siclog@

    // The SS transmits an AMD PDU to the UE

    f_TxAMD_SDU(p_RLC_Rec, cs_TimingInfo_Now, tsc_P_NoPoll, tsc_RLC_SDU11);

    //@siclog "Step 9A" siclog@

    // The SS starts the UL default grant transmission

    f_EUTRA_StartDefULGrantTransmission(eutra_Cell1);

    //@siclog "Step 10" siclog@

    // The UE transmits an AMD PDU with the same data as received in the corresponding DL AMD PDU.

    // The UE sets the poll bit as both the transmission and retransmission buffers become empty. Record time TD.

    DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,

                                        cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR,

                                                         tsc_P_Poll,

                                                         {p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11]} ))) -> value v_ReceivedAsp;

    v_SubFrameTimingTd := v_ReceivedAsp.Common.TimingInfo.SubFrame;

    //@siclog "Step 11" siclog@

    // Check1: Does the UE set the poll bit as both the transmission and retransmission buffers become empty? Record time TE.

    // Check2: Is (TE - TD ) = T_poll_retransmit?

    DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,

                                        cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR,

                                                         tsc_P_Poll,

                                                         {p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11]} ))) -> value v_ReceivedAsp;

    v_SubFrameTimingTe := v_ReceivedAsp.Common.TimingInfo.SubFrame;

    v_Duration := f_EUTRA_NB_SubFrameTimingDuration( v_SubFrameTimingTd, v_SubFrameTimingTe);

    if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_PollRetransmit * 1000.0) ) )

      {

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 11");

      }

    //@siclog "Step 11A" siclog@

    // The SS transmits a STATUS PDU.

    p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 12" siclog@

    // The SS reconfigures RLC in the UE and sets.

    p_RLC_Rec.t_Reordering := 0.2;

    p_RLC_Rec.t_StatusProhibit := 0.4;

    p_RLC_Rec.t_PollRetransmit := 0.5;

    // Send RRC CONNECTION RECONFIGURATION to UE

    f_EUTRA_RRCConnectionReconfiguration_RadioResConfig(eutra_Cell1,

                                                        v_RRC_TI,

                                                        cs_SRB2_1AM_DRB_Reconfig_RLC(v_EUTRA_FDD_TDD_Info.cqi_ReportConfig,  // @sic R5-112605: name change sic@

                                                                                     v_EUTRA_FDD_TDD_Info.soundingRS_UL_Config,

                                                                                     v_AntennaInfo,

                                                                                     cds_TX_AM_RLC_no_mRT (ms500, pInfinity, kBinfinity),

                                                                                     cds_RX_AM_RLC_Common (ms200, ms400)));

    //@siclog "Step 11B" siclog@

    // The SS stops the UL default grant transmission

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );  // @sic R5s100189 sic@

    //@siclog "Step 13" siclog@

    // The SS transmits 4 AMD PDUs with P=0 and SN=11, 12, 13 and 15.

    // The SS records time TF when AMD PDU 16 (with SN=15) is sent.

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_Timing.Subframe.Number := v_Subframe;

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU12);

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s18xxxx Cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU13);

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s18xxxx Cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU14);

    p_RLC_Rec.AM_VTS := 15;

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s18xxxx Cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU16);

    v_SubFrameTimingTf := f_EUTRA_TimingInfoSubframeOffsetAdjust (v_Timing,

                                                                  v_Subframe); // @sic R5s110785 sic@

    //@siclog "Step 13A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 3 UL grants of size 840 bits (UL Grant Allocation type 2). (Note 2)

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 30); // @sic R5s120345, R5-121870 sic@ @sic R5s18xxxx Cat M1 timing 60->30 sic@
    f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,

                                              cs_TimingInfo(v_Timing),

                                              15, 3, 5, 3 );  // Imcs = 15 -> Itbs = 14  @sic R5s110394 sic@

    //@siclog "Step 13B" siclog@

    // The UE transmits RLC SDU#12.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU12);

    //@siclog "Step 13C" siclog@

    // The UE transmits RLC SDU#13.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU13);

    //@siclog "Step 13D" siclog@

    // The UE transmits RLC SDU#14.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU14);

    //@siclog "Step 13E" siclog@

    // The SS transmits a STATUS PDU.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 13F" siclog@

    // The SS starts the UL default grant transmission

    f_EUTRA_StartDefULGrantTransmission(eutra_Cell1);

    //@siclog "Step 14" siclog@

    // Check1: Does the UE transmit a STATUS PDU with NACK_SN=14 and ACK_SN=16 ? Record time TG.

    // Check2: Is (TG - TF ) = updated value of t_Reordering ?

    p_RLC_Rec.AM_VTA := 16;

    v_NACK_List := cr_NACK_List(14, tsc_E2_NoSO_Follows, omit);

    t_WatchDog.start;

    alt // @sic R5-100050 sic@

      {

        [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                               cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,

                                                                   v_NACK_List,

                                                                   v_Padding_5bits_Any ))) -> value v_ReceivedAsp

          {

            v_SubFrameTimingTg := v_ReceivedAsp.Common.TimingInfo.SubFrame;

            v_Duration := f_EUTRA_NB_SubFrameTimingDuration(v_SubFrameTimingTf, v_SubFrameTimingTg);

            if (f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_Reordering * 1000.0) ) )

              {

                f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 14");

              }

            t_WatchDog.stop;

          }

        [] t_WatchDog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 14");

          }

      } // alt

    //@siclog "Step 15" siclog@

    // 100 ms after the Status Report received at Step 14, the SS sends 4 AMD PDUs with P=0 and SN=16, 17, 19 and 20.

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_SubFrameTimingTg, 100);  // @sic R5s110019 sic@

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU17);

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s18xxxx Cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU18);

    p_RLC_Rec.AM_VTS := 19;

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s18xxxx Cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU20);

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s18xxxx Cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU21);

    //@siclog "Step 15A" siclog@

    // Check1: Does the UE transmit a STATUS PDU with NACK_SN=14, NACK_SN=18 and ACK_SN=21 ? Record time TH.

    // Check2: Is (TH - TG ) = updated value of t_StatusProhibit ?

    p_RLC_Rec.AM_VTA := 18;

    v_NACK_List := cr_NACK_List ( 14,

                                  tsc_E2_NoSO_Follows,

                                  omit );

    t_WatchDog.start;

    alt // @sic R5-100050 sic@

      {

        [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                               cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,

                                                                   v_NACK_List,

                                                                   v_Padding_5bits_Any ))) -> value v_ReceivedAsp

          {

            v_SubFrameTimingTh := v_ReceivedAsp.Common.TimingInfo.SubFrame;

            v_Duration := f_EUTRA_NB_SubFrameTimingDuration( v_SubFrameTimingTg, v_SubFrameTimingTh );

            if( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_StatusProhibit * 1000.0) ) )

              {

                f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 15B");

              }

            else

              {

                f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 15B");

              }

            t_WatchDog.stop;

          }

        [] t_WatchDog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 15B");

          }

      } // alt

    //@siclog "Step 16" siclog@

    // The UE transmits a STATUS PDU with NACK_SN=14, NACK_SN=18 and ACK_SN=21.

    p_RLC_Rec.AM_VTA := 21;

    v_NACK_List := cr_NACK_List_2NACKs(14,

                                       tsc_E2_NoSO_Follows,

                                       omit,

                                       18,

                                       tsc_E2_NoSO_Follows,

                                       omit);

    DRB.receive (car_DRB1_RLCStatusInd(eutra_Cell1,

                                       cr_STATUS_PDU_Nack(p_RLC_Rec.AM_VTA,

                                                          v_NACK_List,

                                                          v_Padding_1bit_Any))) -> value v_ReceivedAsp;

    //@siclog "Step 17" siclog@

    // The SS stops the UL default grant transmission

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );

    //@siclog "Step 18" siclog@

    // After 450ms the SS transmits 3 AMD PDUs with SN=14, 18, 20.

    // The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=20.

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 450);  // @sic R5s110019, R5s110474 sic@

    p_RLC_Rec.AM_VTS := 14;

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_NoPoll,

                  tsc_RLC_SDU15 );

    p_RLC_Rec.AM_VTS := 18;

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s18xxxx Cat M1 timing sic@
    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_NoPoll,

                  tsc_RLC_SDU19 );

    p_RLC_Rec.AM_VTS := 20;

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s18xxxx Cat M1 timing sic@
    f_TxAMD_SDU ( p_RLC_Rec,

                  cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                  tsc_P_Poll,

                  tsc_RLC_SDU21 );

    //@siclog "Step 18A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant of size 40 bits (UL Grant Allocation type 3). (Note 3)

    // v_Timing.Subframe.Number of 4 is valid for UL grant transmission

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 40); // @sic R5s18xxxx Cat M1 timing 60->40 sic@

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                   3, 1);

    //@siclog "Step 19A" siclog@

    // In the next valid subframe following the one scheduled in step 7A the SS assigns 7 UL grants of size 840 bits (UL Grant Allocation type 2). (Note 3)

//    // v_Timing.Subframe.Number of 6 (FDD) resp. 9 (TDD) is valid for UL grant transmission

//    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s18xxxx Cat M1 timing sic@
    f_EUTRA_PeriodicCyclicULGrantTransmission( eutra_Cell1,

                                               cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                               15, 3, 5, 7);  // @sic R5s110394 sic@

    //@siclog "Step 19" siclog@

    // The UE transmits a Status Report with no NACK_SN and ACK_SN = 21.

    DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                        cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA )));

    //@siclog "Step 19B" siclog@

    // The UE transmits RLC SDU#15.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU15);

    //@siclog "Step 19C" siclog@

    // The UE transmits RLC SDU#16.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU16);

    //@siclog "Step 19D" siclog@

    // The UE transmits RLC SDU#17.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU17);  // @sic R5s100189 sic@

    //@siclog "Step 19E" siclog@

    // The UE transmits RLC SDU#18.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU18);

    //@siclog "Step 19F" siclog@

    // The UE transmits RLC SDU#19.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU19);

    //@siclog "Step 19G" siclog@

    // The UE transmits RLC SDU#20.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU20);  // @sic R5s100189 sic@

    //@siclog "Step 19H" siclog@

    // The UE transmits RLC SDU#21.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU21);

    //@siclog "Step 19I" siclog@

    // The SS transmits a STATUS PDU.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 20" siclog@

    // The SS transmits an AMD PDU to the UE

    f_TxAMD_SDU(p_RLC_Rec, cs_TimingInfo_Now, tsc_P_NoPoll, tsc_RLC_SDU22);

    //@siclog "Step 20A" siclog@

    // The SS starts the UL default grant transmission

    f_EUTRA_StartDefULGrantTransmission(eutra_Cell1);

    //@siclog "Step 21" siclog@

    // The UE transmits an AMD PDU with the same data as received in the corresponding DL AMD PDU.

    // The UE sets the poll bit as both the transmission and retransmission buffers become empty. Record time TI.

    DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,

                                        cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR,

                                                         tsc_P_Poll,

                                                         {p_RLC_Rec.RLC_DataList[tsc_RLC_SDU22]} ))) -> value v_ReceivedAsp;

    v_SubFrameTimingTi := v_ReceivedAsp.Common.TimingInfo.SubFrame;

    //@siclog "Step 22" siclog@

    // Does the UE set the poll bit as both the transmission and retransmission buffers become empty? Record time TJ.

    // Check2: Is (TJ - TI ) = updated value of t-PollRetransmit?

    DRB.receive (car_DRB1_RLCAmDataInd (eutra_Cell1,

                                        cr_AMD_PDUoneSDU(p_RLC_Rec.AM_VRR,

                                                         tsc_P_Poll,

                                                         {p_RLC_Rec.RLC_DataList[tsc_RLC_SDU22]} ))) -> value v_ReceivedAsp;

    v_SubFrameTimingTj := v_ReceivedAsp.Common.TimingInfo.SubFrame;

    v_Duration := f_EUTRA_NB_SubFrameTimingDuration( v_SubFrameTimingTi, v_SubFrameTimingTj);

    if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_PollRetransmit * 1000.0) ) )

      {

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 22");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 22");

      }

    //@siclog "Step 23" siclog@

    // The SS transmits a STATUS PDU.

    p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;

    f_TxSTATUS_PDU(p_RLC_Rec);

  } // fl_EUTRA_7_2_3_13_TestBody
..
